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1. Evaluate 

Watch Video Solution

∫(x + 1)(2x − 1) dx
5
2

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_lE0B8roGvjCV


2. Evaluate 

Watch Video Solution

∫ dx
x + 2

(x2 + 4x + 5)2

3. Evaluate: 

Watch Video Solution

∫ dx
sinx + cos x

sinx − cos x

4. 

Watch Video Solution

∫ dx
cos x

1 + sin2 x

https://dl.doubtnut.com/l/_Y3wF2tUTYgab
https://dl.doubtnut.com/l/_gOJd8anNk1Gk
https://dl.doubtnut.com/l/_iN8UtnarOCyi


5. Evaluate 

Watch Video Solution

∫ dx
x3

1 + x8

6. Evaluate: 

Watch Video Solution

∫x√x2 + 1dx.

7. Evaluate 

Watch Video Solution

∫
dx

√2x + 1

https://dl.doubtnut.com/l/_qwxB5mQ8H6yT
https://dl.doubtnut.com/l/_uPc3tgdJO6i4
https://dl.doubtnut.com/l/_tF2K2QHJWKDd


8. Evaluate 

Watch Video Solution

∫ dx
sin(logx)

x

9. 

Watch Video Solution

∫ dx.
sin− 1 x

√1 − x2

10. Evaluate:


Watch Video Solution

∫ dx
e2x

1 + ex

https://dl.doubtnut.com/l/_z2N1wFn0KxbJ
https://dl.doubtnut.com/l/_Hv141K2pDy90
https://dl.doubtnut.com/l/_y2mC6vgHDZYu


11. Evaluate 

Watch Video Solution

∫
dx

e−x + 1

12. 

Watch Video Solution

∫
dx

ex + e−x

13. Evaluate: 

Watch Video Solution

∫  dx
ex − e−x

ex + e−x

https://dl.doubtnut.com/l/_teJ2vvvlw831
https://dl.doubtnut.com/l/_cAlECFJk63im
https://dl.doubtnut.com/l/_jk4Ef4ZdeJe3


14. Evaluate 

Watch Video Solution

∫
dx

x{1 + (logx)2}

15. Evaluate 

Watch Video Solution

∫ logxdx

16. Evaluate 

Watch Video Solution

∫xexdx

https://dl.doubtnut.com/l/_X00OX8GVccJN
https://dl.doubtnut.com/l/_c9WagiwIF806
https://dl.doubtnut.com/l/_ehYRj7F3ggid


17. Evaluate 

Watch Video Solution

∫x cos xdx.

18. Evaluate 

Watch Video Solution

∫x sec2 xdx

19. Evaluate: 

Watch Video Solution

∫x2 sinx dx

https://dl.doubtnut.com/l/_Zw9qsONGGddY
https://dl.doubtnut.com/l/_B57VvOdlolN9
https://dl.doubtnut.com/l/_0q7E8WYVqds5


20. Evaluate 

Watch Video Solution

∫x tan− 1 xdx

21. 

Watch Video Solution

∫ dx
x2 tan− 1 x

1 + x2

22. 

Watch Video Solution

∫ dx
x + sinx

1 + cos x

https://dl.doubtnut.com/l/_XX4y08nICpnB
https://dl.doubtnut.com/l/_KWQB9x7uWtT6
https://dl.doubtnut.com/l/_dyiVH8kPYK6F


23. 

Watch Video Solution

  ∫ dx
logx

(1 + x)2

24. Evaluate 

Watch Video Solution

∫( + x2ex)dx
etan − 1 x

1 + x2

25. 

Watch Video Solution

∫ex(cos x + sinx)dx

https://dl.doubtnut.com/l/_K6OrdyIIBUxv
https://dl.doubtnut.com/l/_27RkvMtvoFVw
https://dl.doubtnut.com/l/_JacIf3ttBmv4


26. Evaluate 

Watch Video Solution

∫ex( − )dx
1

logx

1

x(logx)
2

27. Evaluate 

Watch Video Solution

∫ex( − )dx
1

x + 1

1

(x + 1)2

28. 

Watch Video Solution

∫
dx

x2 − 9

https://dl.doubtnut.com/l/_JacIf3ttBmv4
https://dl.doubtnut.com/l/_bPHj7tYZwLzi
https://dl.doubtnut.com/l/_kysDwmI9CkpE
https://dl.doubtnut.com/l/_GCdhIp8jTQDk


29. Find the integral of the following integral

Watch Video Solution

∫
dx

√9x2 + 1

30. Find the integral of the following integral

Watch Video Solution

∫
3xdx

2x4 + 1

https://dl.doubtnut.com/l/_GCdhIp8jTQDk
https://dl.doubtnut.com/l/_wKVDdT5q3dBB
https://dl.doubtnut.com/l/_Ggr8cYlCWr1M


31. Evaluate 

Watch Video Solution

∫ dx
cos x

√25 − sin2 x

32. 

Watch Video Solution

∫
dx

√1 − x − x2

33. Evaluate: 

Watch Video Solution

∫
dx

√x2 + 2x + 2

https://dl.doubtnut.com/l/_0HFUdNtDsjkF
https://dl.doubtnut.com/l/_v0IGxg4j2jWM
https://dl.doubtnut.com/l/_T5H7sHBn5QdG


34. Integrate the Following Integral

Watch Video Solution

∫ dx
2x − 3

√2x2 − 6x + 1

35. Integrate the Following Integral

Watch Video Solution

∫ dx
2x + 3

√x2 + 2x + 10

36. Evaluate ∫√x2 + 16dx

https://dl.doubtnut.com/l/_VGZOqluu8byL
https://dl.doubtnut.com/l/_VXaY6ACQqNsT
https://dl.doubtnut.com/l/_cuYst9m3Dx11


Watch Video Solution

37. Evaluate 

Watch Video Solution

∫√49 − 16x2dx

38. Evaluate 

Watch Video Solution

∫√x2 + 2x − 3dx

39. Evaluate ∫√8 − 2x − x2dx

https://dl.doubtnut.com/l/_cuYst9m3Dx11
https://dl.doubtnut.com/l/_abXEVwOSFgjM
https://dl.doubtnut.com/l/_oB4oqSojnJ2K
https://dl.doubtnut.com/l/_mVfTVjjtGz2P


Watch Video Solution

40. Evaluate 

Watch Video Solution

∫ dx
x2

(x2 − 4)

41. Evaluate 

Watch Video Solution

∫ dx
x − 1

(x − 2)(x − 3)

42. Evaluate ∫3 dx
x

x2 − x − 2

https://dl.doubtnut.com/l/_mVfTVjjtGz2P
https://dl.doubtnut.com/l/_g1JAtdj0e4DD
https://dl.doubtnut.com/l/_nk3ICB4WZQzA
https://dl.doubtnut.com/l/_5tnX4wZGvRlJ


Watch Video Solution

43. Evaluate 

Watch Video Solution

∫ dx
x2

(x + 1)(x + 2)

44. 

Watch Video Solution

∫ dx
1

1 + 3ex + 2e2x

https://dl.doubtnut.com/l/_5tnX4wZGvRlJ
https://dl.doubtnut.com/l/_HrRlaicNEuRx
https://dl.doubtnut.com/l/_6p2Uhv2ElCUj


45. Choose the correct answer of the given

question 

A. log |sexc-tanx|

B. 

C. log|x+sinx|

D. 1/2[x+log|sinx+cosx|]

Answer: D

Watch Video Solution

∫ dx =_ _ + c
1

1 + tanx

2
sec2 x

2

https://dl.doubtnut.com/l/_0a2sJZuexrW3


46. Choose the correct answer of the given

question 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

∫ dx =_ _ + c
ex + 1
ex − 1

2 log∣∣e − e− ∣∣
x

2
x

2

2 log∣∣e + e− ∣∣
x

2
x

2

2 log|ex − 1| − x

2 log|ex + 1|

https://dl.doubtnut.com/l/_w5N51nUBu42P


47. Choose the correct answer of the given

question 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

∫ dx =_ _+ c
1

x(logx)
n

(logx)1 −n

1 − n

(logx)
1 +n

1 + n

(logx)n

n

logx

1 − n

https://dl.doubtnut.com/l/_ZZhAIGFftikI


48. 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

∫ dx
cos √x

√x

2 cos √x + c

√ + c
cos x
x

sin √x + c

2 sin √x + c

https://dl.doubtnut.com/l/_ZZhAIGFftikI
https://dl.doubtnut.com/l/_2VX235Fw1Bho


49. Choose the correct answer of the given

question 

A. 

B. 

C. 

D. 

Answer: C

View Text Solution

∫√ dx =_ _ + c
1 − x

x

√1 − x2 + sin− 1 (2x + 3)
1

2

3
2

√x − x2 − sin− 1 (2x + 3)
1

2

3
2

√x − x2 + sin− 1 (2x + 3)
1

2

3
2

√x − 1 + sin− 1 (2x + 3)
1

2

3
2

https://dl.doubtnut.com/l/_Dh8arekfhPZu


50. Choose the correct answer of the given

question 

A. 

B. 

C. 

D. 2logx

Answer: B

Watch Video Solution

∫2xdx =_ _ + c

2x log 2

2x

log 2

2x logx

https://dl.doubtnut.com/l/_mNZkeWCo58wd


51. Choose the correct answer of the given

question 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

∫e√xdx =_ _ + c

2e√x(√x − 1)

e√x(√x − 1)

2e√x(√x + 1)

2e√x(x − 1)

https://dl.doubtnut.com/l/_9tyedFXyLNN9


52. Choose the correct answer of the given

question 

A. 

B. 

C. 2sinx+c

D. 

Answer: D

Watch Video Solution

∫√ dx
1 − cos x

2

−2 cos( ) + c
x

2

e√x cos x + c

√2 sinx + c

https://dl.doubtnut.com/l/_A7yghMw27CYO


53. 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

∫(x − 1)e−xdx =

e−x + c

−xex + c

−xe−x + c

1 − xex + c

https://dl.doubtnut.com/l/_i3GxzDzoY7uI


54. 

A. `1/3 tan^-1(1/sqrt3 tan(x/2))

B. 

C. 

D. 

Answer: B

Watch Video Solution

∫ dx
1

2 + cos x

tan− 1( tan( )) + c
1

√3

1

√3

x

2

tan− 1( tan( )) + c
4

√3

1

√3

x

2

tan− 1(tan( )) + c
2

√3

x

2

https://dl.doubtnut.com/l/_NoYSijyfUAgB


55. Evaluate: 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

∫  dx
1

ex + e−x

tan− 1(e−x) + c

tan− 1(ex) + c

tan− 1 x + c

1 + ex + c

https://dl.doubtnut.com/l/_ZMvpsgSoQQAo


56. Choose the correct answer of the given

question 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

∫ =_ _ + c
dx

1 + x2

tan− 1 x

sin− 1 x

cos − 1 x

cot − 1 x

https://dl.doubtnut.com/l/_6t3iCewoOqwo


57. 

A. x+tanx+secx+c

B. x-tanx+c

C. x+secx+c

D. x-tanx+secx+c

Answer: D

Watch Video Solution

∫ dx = ?
sinx

(1 + sinx)

https://dl.doubtnut.com/l/_Tzs9rtibsRVM


58. Choose the correct answer of the given

question 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

∫ dx =_ _ + c
1 − x4

1 − x

+
x2

2
x3

3

x + + +
x2

2
x3

3
x4

4

+ +
x2

2
x3

3
x4

4

+
x2

2
x4

4

https://dl.doubtnut.com/l/_fP5BBAINZeMS


59. Evaluate 

A. 1+logx

B. x+logx

C. log(1+logx)+c

D. xlog(1+logx)+c

Answer: C

Watch Video Solution

∫
dx

x + x logx

https://dl.doubtnut.com/l/_lWFDftexb2CB


60. 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

∫ex[f(x) + f' (x)]dx =

exf(x) + c

+ c
ex

f(x)

ex + f(x) + c

ex + c

https://dl.doubtnut.com/l/_iczq8QytdwBI


61. 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

∫ dx
ex(1 − sinx)

1 − cos x

ex + c
tanx

2

−ex + c
cot x

2

−ex + c
tanx

2

ex + c
cot x

2

https://dl.doubtnut.com/l/_stZPD81lupKZ


62. Choose the correct answer of the given

question 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

∫ex( − )dx =
1

x

1

x2

ex( ) + c
1

x2

ex + c

ex( ) + c
1

x

−ex + c

https://dl.doubtnut.com/l/_03GMqaStsX1y


63. 

A. 0

B. 

C. 

D. 

Answer: D

Watch Video Solution

∫ dx
etan − 1 x

1 + x2

−etan − 1 x + c

tan− 1 x + c

etan − 1 x + c

https://dl.doubtnut.com/l/_mGk4Pu86yzJI


64. Choose the correct answer of the given

question 

A. -cotx+c

B. cotx+c

C. -tanx+c

D. tanx+c

Answer: A

Watch Video Solution

∫ dx =
2

1 − cos 2x

https://dl.doubtnut.com/l/_Nuzucak3eoIZ


65. Find the following integral (using

Substitution method) 

View Text Solution

∫x2√1 + x2dx

66. Find the following integral (using

Substitution method) 

Watch Video Solution

∫(2x + 5)√x2 + 5xdx

https://dl.doubtnut.com/l/_I9cQw1JmYQMn
https://dl.doubtnut.com/l/_Vt7bKltYbDpC
https://dl.doubtnut.com/l/_MoUc7rM5lfW7


67. Find the following integral 

Watch Video Solution

∫ dx
x3

1 + x3

68. Find the following integral (using

Substitution method) 

Watch Video Solution

∫
dx

x(logx)2

https://dl.doubtnut.com/l/_MoUc7rM5lfW7
https://dl.doubtnut.com/l/_WAmvoMp1R1q5


69. Find the following integral (using

Substitution method) 

Watch Video Solution

∫ dx
x3

√x2 + 1

70. 

Watch Video Solution

∫ dx
ex − 1

ex + 1

https://dl.doubtnut.com/l/_whjVwvW0up8q
https://dl.doubtnut.com/l/_357hR7YofRCl


71. Find the following integral (using

Substitution method) 

Watch Video Solution

∫ dx
ex + e−x

ex − e−x

72. Find the following integral (using

Substitution method) 

Watch Video Solution

∫
dx

x logx

https://dl.doubtnut.com/l/_6dVw5nN8wgmZ
https://dl.doubtnut.com/l/_AMjkI06FFd9B
https://dl.doubtnut.com/l/_5PLuWOklYpx6


73. Find the following integral (using

Substitution method) 

Watch Video Solution

∫x(3x2 + 7)
7
dx

74. Find the following integral (using

Substitution method) 

Watch Video Solution

∫(3x2 − 5x + 7)
m

(6x − 5)dx

https://dl.doubtnut.com/l/_5PLuWOklYpx6
https://dl.doubtnut.com/l/_U7SWwKPwmSEL
https://dl.doubtnut.com/l/_UkUESqVAAoZq


75. Evaluate the following integrals: 

Watch Video Solution

∫x cos 2xdx

76. Integrate the following : 

.

Watch Video Solution

∫x sinxdx

77. 

Watch Video Solution

∫x sin2
xdx

https://dl.doubtnut.com/l/_UkUESqVAAoZq
https://dl.doubtnut.com/l/_MQBCbfyttlCy
https://dl.doubtnut.com/l/_J6FZSC70bGqJ


78.  dx

Watch Video Solution

∫x sin− 1 x

79. Find the following integral (using

Integration by parts method) 

Watch Video Solution

∫x sec− 1 xdx

https://dl.doubtnut.com/l/_J6FZSC70bGqJ
https://dl.doubtnut.com/l/_yQoLzfsN2lBw
https://dl.doubtnut.com/l/_aTTRQVF8WrrU


80. 

Watch Video Solution

∫x2 logxdx.

81. 

Watch Video Solution

∫x2 tan− 1 xdx

82. 

Watch Video Solution

∫tan− 1 xdx

https://dl.doubtnut.com/l/_eV8VMyzAa9Co
https://dl.doubtnut.com/l/_7nsJ7NPMUokT
https://dl.doubtnut.com/l/_GetexU3KNReI


83. 

Watch Video Solution

∫ dx
sin− 1 x

x2

84. Find the following integral (using

Integration by parts method) 

Watch Video Solution

∫x3exdx

https://dl.doubtnut.com/l/_KBr8OIct8egm
https://dl.doubtnut.com/l/_Vss8bcomDmC4


85. Find the following integral (using partial

fraction method) 

Watch Video Solution

∫ dx
2x + 1

(x − 1)(x + 2)(x − 3)

86. Find the following integral (using partial

fraction method) 

Watch Video Solution

∫ dx
x2 + 1

(x − 1)2(x + 3)

https://dl.doubtnut.com/l/_J0DJhDJqR1qA
https://dl.doubtnut.com/l/_0TDQQGBCrhYm
https://dl.doubtnut.com/l/_ztJ0fbVQS0oG


87. Find the following integral (using partial

fraction method) 

Watch Video Solution

∫ dx
2x + 1

(x + 1)(x − 2)

88. Evaluate: 

Watch Video Solution

∫  dx
x

(x + 1)(x2 + 1)

https://dl.doubtnut.com/l/_ztJ0fbVQS0oG
https://dl.doubtnut.com/l/_3nDQZGDQu54P


89. Find the following integral (using partial

fraction method) 

Watch Video Solution

∫
dx

x(x2 + 8)

90. 

Watch Video Solution

∫
dx

x4 − 1

https://dl.doubtnut.com/l/_3yVKfEHPyVb0
https://dl.doubtnut.com/l/_CszrASPA0bhn


91. Find the following integral (using partial

fraction method) 

Watch Video Solution

∫ dx
3x

(x − 1)(x − 2)

92. Evaluate the following Integrals : 

Watch Video Solution

∫
dx

x(xn + 1)

https://dl.doubtnut.com/l/_niYjoIPWTTie
https://dl.doubtnut.com/l/_YcTK4SDS0tTJ


93. Find the following integral (using partial

fraction method) 

Watch Video Solution

∫ dx
3x − 1

(x + 2)3

94. 

Watch Video Solution

∫ dx
x3 + x + 1

x2 − 1

95. Evaluate ∫ dx
1

x2 + 4x + 8

https://dl.doubtnut.com/l/_TT6psWKwgbWk
https://dl.doubtnut.com/l/_BrFGK16YLhtf
https://dl.doubtnut.com/l/_DIjlnzEnJRYs


Watch Video Solution

96. 

Watch Video Solution

∫ dx
1

3x2 + 13x − 10

97. Evaluate: 

Watch Video Solution

∫  dx
x

x4 − x2 + 1

98. ∫ dx
1

x2 − 5x + 6

https://dl.doubtnut.com/l/_DIjlnzEnJRYs
https://dl.doubtnut.com/l/_NSGkTXpSy6Ae
https://dl.doubtnut.com/l/_MhTfIAPoHeC2
https://dl.doubtnut.com/l/_Z1AAcU1nuDUF


Watch Video Solution

99. 

Watch Video Solution

∫
dx

√(x − 1)(x − 2)

100. Evaluate 

Watch Video Solution

∫ dx
1

√9 + 8x − 4x2

https://dl.doubtnut.com/l/_Z1AAcU1nuDUF
https://dl.doubtnut.com/l/_r99yFeUDDFHp
https://dl.doubtnut.com/l/_fYeNJqcPJnxZ


101. 

Watch Video Solution

∫ dx
x + 2

√x2 + 5x + 6

102. Evaluate: 

Watch Video Solution

∫  dx
5x + 3

√x2 + 4x + 10

103. 

Watch Video Solution

∫√4x2 + 9dx

https://dl.doubtnut.com/l/_CyVIEg29vDCW
https://dl.doubtnut.com/l/_wFjf6M1zjaXX
https://dl.doubtnut.com/l/_rkpbk91VKFgd


104. 

Watch Video Solution

∫√8 + 2x − x2dx

105. Evaluate 

Watch Video Solution

∫√9x2 + 4dx

106. Evaluate 

∫√5 − 2x − x2dx

https://dl.doubtnut.com/l/_Z7iSF9L3JGZv
https://dl.doubtnut.com/l/_gp6pkVGHIiUm
https://dl.doubtnut.com/l/_HcVclBp4LhpC


Watch Video Solution

https://dl.doubtnut.com/l/_HcVclBp4LhpC

